
z
∆e

z
Φ

λ
=

m∑
ξ

m:ν
(λ) p

m
(z)

bν (λ)
−1

=
m∑

ξ
m:ν

(λ)
(
B−1

ν p
m

)
(0) =

m∑
ξ

m:ν
(λ) ]

m
(0)

]
m

(0) =

∫
bν (λ)

−1
ξ

m:ν
(λ) λ tanh (πλ) Γ±λi− 1/2

ξ
m:ν

(λ) =
(ν)

m

m!

[
−m:± λi + 1/2

ν:1

]
(1) =

(ν)
m

m!

∑
0 6 j 6 m

(−m)
j
(±λi + 1/2)

j

(ν)
j
(j!)

2

ξ
m + 1:0

(λ) = −
(

1

4
+ λ

2
) [

−m:
3

2
± λi

2:2

]
(1)

z

m

[
a1:···:ap

b1:···:bq

]
=

(
a1

)
m
···

(
ap

)
m(

b1

)
m
···

(
bq

)
m

z[
a1 + m:···:ap + m
b1 + m:···:bq + m

]

Sm

(
λ

2
:a:b:c

)
= (a + b)

m
(a + c)

m

1[
−m:a± λi
a + b:a + c

]

Sm

(
λ

2
:
1

2
:ν − 1

2
:
1

2

)
= (ν)

m
m!

1[
−m:± λi + 1/2

ν:1

]
= (m!)

2
ξ

m:ν
(λ)

∫
dλ

Sm

(
λ

2
)

Sn

(
λ

2
) 2

Γ
a + λi

Γ
b + λi

Γ
c + λi

Γ
2λi

D F

2

Γ
λi + 1/2

Γ−λi + 1/2

Γ
2λi

D F

= 4πλ tanh (πλ)

Sm

(
λ

2
:
3

2
:
1

2
:
1

2

)
= (m + 1!)

2
1[
−m:± λi + 3/2

2:2

]
= (m + 1!)

2
ξ

m + 1:0

λ
2
+ 1/4

∫
dλ

2

Γ
λi + 3/2

Γ
λi + 1/2

Γ
λi + 1/2

Γ
2λi

D F



∫
dλ

ξ
m:0

(λ) ξ
n:0

(λ) λ tanh (πλ) Γ±λi− 1/2
=

δm:n

m2

∫
dλ

ξ
m:0

(λ) λ tanh (πλ) Γ±λi− 1/2


